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Q" percent vs. percentage
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The percentage of Asian students attending the school is around 51 percent.
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A high percentage of the budget will be spent on education.
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QO by vs. until
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Students need to register for the program by the end of this month.
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The research will continue until the end of this semester.
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Q almost vs. mostly
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The participants were almost women. (x)
The participants were mostly women. (o)

The girlis now almost a woman. (o)
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' ‘be consisted of” vs. ‘consist of’
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e group is-eensisted-of-academic researchers and industry specialists. (x)
The group consists of academic researchers and industry specialists. (o)
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‘O ‘be consisted of’ vs. ‘consist of’
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Most car accidents areresutted-frorr momentary mistakes. (x)
Most car accidents result from momentary mistakes. (o)

& o] Algo| UE|LQ?

OICIE|X| Sf&H A MU[AR HMETII EZF DILINR!




